
Directions: Solve the following word problems. 

 

1. The apple tree in Haley’s backyard had 

57 apples.  Haley picked 28 apples to 

make an apple pie.  How many apples are 

     left on the tree? 

 

 ____ apples are left on the tree. 

 

 

 Does your answer seem reasonable 

  and make sense?    YES     NO 

 

 

 

 

2. Daniel and David collected seashells at 

the beach.  Daniel collected 42  

    seashells.  David collected 18 seashells.   

    How many more seashells did Daniel  

    collect? 

 

 

 Daniel collected ___ more seashells 

 than David. 

 

 Does your answer seem reasonable 

  and make sense?   YES     NO 
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Directions: Solve the following word problems. 

 

3.   Bradley and Kenneth are playing with  

Legos.  Bradley has 34 Legos and  

     Kenneth has 46 Legos.  How many legos  

     do they have in all? 

 

 They have ____ Legos in all. 

 

 Does your answer seem reasonable 

  and make sense?    YES     NO 

 

 

 

 

 

 

 

4. Katie and Laci have been saving 

 quarters.  Katie has 56 quarters.   

Laci has 32  quarters.  How many  

more quarters does Katie have than Laci? 

 

 Katie has  ____  more quarters than 

 Laci. 

 

 Does your answer seem reasonable 

  and make sense?   YES     NO 
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